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Q1) ( 2 points) If a = 2i+j+kand b =3i+j—2k. Then find proj,b
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Q2) (4 points) Find the distance between the two lines:
Li: x=24+t.v=4-2t z=1+ 1,
I),C k—l—'z\‘r—1\£~l—’db.
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Q3) (4 points)

b 2. Soe .3 _F‘“d the equation of the plane that is parallel to the line:

A= 3z + 6, perpendicular to the plane: 4x — 2y + 2 = 4 and
passes through the point P(3.-1,5)
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Q4) ( 4 points) Identify and sketeh the following surfaces
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Qf) (3 polnts) Let a and b be two veetors such that [ o]~ 2, [b] -4 and

[ b= 0 Finda b,
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Q6) (3 points) Find the shorle
and the sphere: z* 4 y? 4 7*
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